Name: ________________________________ Block: _________ Date: ______

511  Ch 1.8 


Words into Symbols:

Represent each word phrase by an algebraic expression:

1)
A number decreased by 2

2)
Five more than three times a number

3)
The difference between a number and its square

4)
The sum of twice a number and 6

5)
Twice the sum of a number and 6

6)
7 less than a number

7)
Three times a number and 8

8)
Five more than a number

9)
One less than twice a number

10)
Seven more than half a number

11)
One more than the square of a number

12)
Ten less than a number

13)
The difference between a number and six

14)
The sum of a number and its reciprocal

15)
The square of one more than a number

16)
The reciprocal of two more than a number

17)
Two more than the reciprocal of a number

18)
Complement of an angle

19)
Supplement of an angle

20)
Four consecutive integers if n is an integer:

21)
Four consecutive odd integers if n is odd

22)
Four consecutive even integers if n is even

23)
Sum of five consecutive integers if the middle one is m

24)
Sum of five consecutive odd integers if the middle one is m

25) Sum of five consecutive even integers if the middle one is m

Word problems:

1)
A state legislature has 45 people. The number of men is six less than twice the number of women.

a)
Choose a variable to represent the number of women.

b)
Write an expression for the number of men in terms of that variable

c)
Write an equation that describes the situation.

2)
The base of an isosceles triangle has length b cm and each base angle measures a(.

a)
Find the measure of the vertex angle in terms of a.

b)
If the perimeter is 120 cm, find the length of one of the legs in terms of b.

3)
Find the measure of the third angle of a triangle if one angle has a measure x( and the measure of the second angle is 15( less than half the measure of the first angle.

First angle:





Second angle:

Third angle:

